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a) 0 != 1 

b) 
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zu 2.
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	Ordnung
	Näherung für e0,1
	maximaler Fehler
	Näherung für e0.5
	maximaler Fehler

	-
	1,0000000000
	0,3000000000
	1,0000000000
	1,5000000000

	1
	1,1000000000
	0,0150000000
	1,5000000000
	0,3750000000

	2
	1,1050000000
	0,0005000000
	1,6250000000
	0,0625000000

	3
	1,1051666667
	0,0000125000
	1,6458333333
	0,0078125000

	4
	1,1051708333
	0,0000002500
	1,6484375000
	0,0007812500

	5
	1,1051709167
	0,0000000042
	1,6486979167
	0,0000651042

	6
	1,1051709181
	0,0000000001
	1,6487196181
	0,0000046503

	7
	1,1051709181
	0,0000000000
	1,6487211682
	0,0000002906

	8
	1,1051709181
	0,0000000000
	1,6487212650
	0,0000000161


zu 3.

f´(x,y)=5-2x
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